7077 I VTRRIBE
> 7 ILEIRE (JavaScript L NJL6)

el 1

LTS ICHATNSTOT I LEERLGEL

TAICDE3DETHEATRE
rTUbBALELE

@

class User {
constructor(name) {

this.name;
}
buy(num) {
if (num > 3) {
console.log("1AICDE3DETHATA");
} else {
console.log(this.name + "ABALELE");
b
}

}
let ken = new User("4>");

ken.buy(5);
ken.buy(3);
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class User {
constructor(name) {
this.name = name;

}
buy(num) {
if (num > 3) {
console.log("1AICDE3DETHATE");
} else {
console.log(this.name + "ABEALELRE");
}
}

H
let ken = new User("4>");

ken.buy(5);
ken.buy(3);
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function showWaitingTime() {
let waitingTime;

if (peopleNum == 0) {
console.log("HRDETY");
clearInterval(counterID);

} else {
waitingTime = peopleNum * 5;
console.log(waitingTime + "MFHLTT");
peopleNum = peopleNum - 1;

}

let peopleNum = 4;

let counterID = setTimeout(showWaitingTime, 1000);

console.log("5Y" + peopleNum + "ATE");
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function showWaitingTime() {
let waitingTime;

if (peopleNum == 0) {
console.log("HBRFDBETT");
clearInterval(counterID);

} else {
waitingTime = peopleNum * 5;
console.log(waitingTime + "RFHETT");
peopleNum = peopleNum - 1;

b

let peopleNum = 4;
let counterID = setInterval(showWaitingTime, 1000);

console.log("5Y" + peopleNum + "AT¥");
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class Glass {
constructor(cap, vol) {
this.capacity = cap;
this.volume = vol;

let capacity = 100; // ®A]%
let volume = 70; // 9%
let glass = new Glass(capacity, volume);

console.log("&H &" + glass.remainingCapacity() + "mlAYEdT");
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class User {
constructor(name) {
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this.name = name;
}
buy(num) {
if (num > 3) {
console.log("1 AICD&E3DETHAFAE"
} else {
console.log(this.name + "ABALELL");
}
}

b

let ken = new User("4#>");

ken.buy(5);
ken.buy(3);
E A A
R ZBI

remainingCapacity() {

function showWaitingTime() {
let waitingTime;

if (peopleNum == 0) {
console.log("HRFDETY");
clearInterval(counterID);

} else {
waitingTime = peopleNum * 5;
console.log(waitingTime + "MFLTT");
peopleNum = peopleNum - 1;

}

4;
setInterval(showWaitingTime, 1000);

let peopleNum =
let counterID

console.log("5Y" + peopleNum + "AT¥");

return this.capacity - this.volume;
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